G-30 Bioorganic Chemistry

G-30 Bioorganic Chemistry Problems -3
Examples of solutions
1. Write the mechanisms and the products of the following reactions.
(a) Formation of 1,3-thioacetal (text page 795, 1098)
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(c) dithioacetal is hydrolyzed with Hg** salt (text page 796,1099)
HgCl,

A _HET} B (C14H1502) (@/ = P” —-}
@ 5

S I8 e "‘l—féi(_ﬁ_ & i_‘fr:»;igﬁﬁ &" DS, . Hf) s fo-!.;-; .
%)SD Ph %?/Q . Ph/}\%/ | =5 o T
Ho HO |




G-30 Bioorganic Chemistry

2. Write the mechanisms of the following reaction.

Thiazolium ion is an equivalent to acyl anion (text page 1099-)
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